Tl VR (TR
I e . b
o e ey oy ob el
' i . . ] i
! i ...L ainal i} il __..__“.
|l| i T A
o ¥ 2 = k =
1] .. T N IR S
] “ i g . i
o =) i3 ] ..n.,_' ]
e i .-|H l..l-.-r.. J_-._ .__.- 5 |
J.l.”_ ! . - ) H,l.l._. e ..-..__-- E:
- ¥ x )
il ™~ ﬂr _ et 1 i r._...q;. ?
' P -
i1 I h ; : 3
i "3 , e ! —.?
= ' ﬁ] . ..;.”-

L
_.||| LI"_"\ - -
i]ll'!-k-r.
-J -
B~
% ¢
wy),

¥ P?— -
.I‘.l.r . : )

i » " :

L] F

LR o] e é

;w S o @ 0 J AV THI DY) Dt QJMma a e AT G E: vmu m
& P \ . _ _ : : , _ _ _ . | 3 e o _”w o = _ "
h_ o .u, - ﬂ...._...._u_ . _ < 3\ .__..p.m... :h_ ,.;H .“ = Aw :

i .w_. ] be: wia-ald - y - - g - e el - ; :,.__ j .... ..I.,m. : .. T . ;

/.ﬂv _
= X = g T -

- a i . N 1 =™ e == ..h-_ i :I._

1 % ¥ Y = =y 5

- d ] -

Ir‘ P
!:-E-_"i
151
W _
CAlE, MIN.

Ja..“ “.m..m . 7)
B & i .n.l._ - =
| R e S
B ..... ” o 4 2 .-l...ll-.,l. n
o . l . ' 3 i - i
y H *-'“h 7 - h é - - - I’fﬂ “- # # .f+. fl‘ f.' Hlfhll “a ILH n
“..j....‘..._ _ : > - r;l-]_. ] 2 = -_“v_...w.,..m..u. _f. : = .“ﬂ. I o ..-..n .._.u.._ =y !
= ._ “.-1 -Ilul....- . ) .. -.ll.l..“.“ .-rr a“.i .I..ln.- l-...._..-
_11.-..- i g = et - J 4 .H.. ﬁ _.-.r - .h..q ._-..I..II s - -
] T TR~ P . i~ . i i~ Ry =
£t o ~H Aﬁ B AH NV _ . ¢ . . = %
.._.._..1. ! H.l.-..- g & .J-l.__ - .-._...-....._. ..:.. L ._._.... -
il | ¥ é .._.r_m.._...u § i i = - .l..u. - .f‘
- B £ 5 - = L = | .-..-_ 2 .-.lh_ = R, .n.u P‘_
: : . | - . . | . | i B = S i T
. " " . = 2 =x |
..-_.,-I H.u..." e = i .._. - ..__.- rq”_. .._r...--.r o . I.-.“_. f
Ny op " ] = N s { ., -......l o _ ”._. . .
“ i ol Fod b =N SR T T R T gl . U I”...m
P i Tl s ._ 1|..-..r- ' I.lm. nL_..l.- .-.-H.. _.-.r..u.-. |.-.|....L. .l“..__ e - - s i r— — —— — —— e Py £} r..“..w __.m I-.'. m-..I-. ._.-..1.1 I..“w. " ="y
= u et . . L q g (R ] 3
. = - -+ - P ra g } P T LA i £ i L L L ._ e . Ex uut. _r”..w a._....-.l..,.q 3 Irr.u.. —
i : o = s b~ r sy
(™ L . " w
e g0 A Ty e
L ..-..l_-..n K “......-_. ' o
.......r- ....._... . | ..IIWF ...m..-.... -.ﬂ.. .....__-I- i
- R I M : :
3 i ¢ b T -
- -__ _.l. . |.." --..-..-...._I...- = rﬂ - ._- %
ar L] B = "
r.w i ) e, S TR . i
wt T R ¥y *la .._..u_ = bt 1__
I-._F” ..lﬁl. ..,.u..._..‘ ; A q..“._." pq-ll.w . - sy .- o e
) Y =N Y L il el “4 .Ku
.ﬂ i @ == - e it b | L] el .v.m_..h.. - m - - 1
£ ! t vy i T < < : X
x Lo § 2 8 5 [
Py 2 O s T O C _
vty I i b FP S 4 ol _M S
wr. | T ia L -y ot . M.
B PR 3 =T -
P e ¥ L i ’
- b I__ .I..“.. { M... s g ™
- 3 -~ < S
4 N -. = : o
oy ! - m
= WEED il o

SR T -

LR S

T T



gim ﬁﬁs&@mﬁwg;@m ekt § (S guili
L—fy/' Hfj)/w/ O ﬁ?.—pé 29/6,,;,*

(f’f;;f??_ e) AJU-*‘"’*" KE.VJC*L el 2

F'?GIE: Ll,@}mﬂl{"kglw/u;_&ff

—— . S —— B

e o —— e

2 ,;0,},5
’ f/;///
- f'"/ / //‘/ 1
& 2 y
qué“/’J)Ufa/ &2‘1_,___., e
: 2 0T J
I ‘ UJ—” //1’ lo ﬁ}ftﬁ/ il ('_f/(%)/ )
/4 4 ’ H A . o/ ;f/_,/
e o ¥ 5 7 b | e O p
/ | {/’ /Cflb L}:ﬁ;(}&l’b
Sy

JV &/jf/wb/yf/j_ﬁ/ﬁﬁc{’f//‘ il -—21.

JFJ/MC//)/OV/’/‘J/Cf”yM C/O//

wé_/u_ﬁ/,&—a
@(/" 0@*"””(}/
C}JWZL'/:N.{' .-

tr{ab"f'%””b




Paper Code 2016 (A) | Yo

Number: 6451 (LM UE ) | - LI

SOCIOLOGY PAPER- OBJECTIVE (%/.s by - 24 =l
TIME ALLOWED: 30 Minutes e 30 = =
MAXIMUM MARKS: 20 20 = A

S o L M3 QWL g erne S éri vy Q6017 -t L4 D 11 C B A ezl vy LS
Dy -B’prgﬂ{/‘(jf(,ﬁ@;r‘d:‘_ﬁi Bubbles ifﬂ;ﬂfﬁvlﬁn;ﬁpﬂagfcfé_ﬁ Sok L L/JU!jliﬂkai:—hé? e

Note: You have four choices for each objective type question as A, B, C and D. _L{.&J’J{}@wr{,g{_jir

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objactive type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) Founder of Sociology is:- --.;:-J',B’-:-«Ef/' (1)
(A) Sumner (B) Durkheim FL&.:? (C) Spencer % (D) August Comte e oA

(2) Types of Science are:- (A) 5 (B) 3 (C) 2 (D) 4 -u_rrrﬂ!d'u"b- (2)

(3) Sociology is:- -l (3)
(A) General Science u"'fbfd;z (B) Sccial Science u:Lr;:Er}ba (C)Art &7 (D) Physics _.;,“L,_ﬁ

(4) Sociologists work as Social Medical Officer in:- _L,gi.)?b}:"?ﬂ,‘yf B VA sl (4)
(A) Hospitals (ZU#tx1 (B) Prisons (U2 (C) Universities (= Us>sty (D) Factories =y /-'é

(5) Example of Social Interaction is:- -f}-dﬁ*lﬁ.}‘ GJ b (5)
(A) Telephonic talk I:.f..:-.,l,..;w}& (B) Sleeping t+ (C) Reading Loy (D) Walking (%

(6) To form a Social Group the minimum requirement of Individuals is:- -{_-:-u,.;"nﬁr',j'ﬁ'( e_J-ﬁqu tﬁrf Jfb"' (6)
(A) 1 (B) 2 (C) 3 (D) 4

(7) Secondary groups are found mostly in:- -uﬁf—lri-!;f”kiw{fﬁ? (7)
(A) Towns g,}fu;:":" (B) Mountains (~Us/l¢ (C) Cities L,Fiu:ﬁ (D) Villages (2Us¥

(8) Members of ingroup have:- _ﬁ;&ﬁpdc}bﬁuiufﬁ: (8)
(A) Modernity = (B) Hate = /% (C) Humanity =Ll (D) Sympathy $ws

(9) It is compulsory for achieved status:- -:‘:-dsj/éé—ﬁa:ﬂdm (9)
(A) Family ¢ist (B) Ability =.>1e (C) Sex J¥ (D) Caste =13

(10) Status and role status are:- U sinhes  (10)
(A) Allied £_se_ 7 (B) Separate |x (C) Conflict sl (D) None of these 205 Lt ul

(11) Types of Social Norms are:- (A) 6 (B) 2 (C) 5 (D) 3 “grOIde e (11)

(12) Negative sanctions include:- el (12)
(A) Certificate +- (B) Medal 3+ (C) Punishment [ (D) Reward 127

(13) Violation of Law is called:- e QW nsEdude  (13)
(A) Crime ¢z (B) Bravery (sl (C) Sin st~ (D) Accident 2L

(14) Social values are protected by:- --f-rf:ﬁﬁ?&*ﬁ'a,ﬁb‘ (14)
(A) Association %I (B) Institution e (C) Club & (D) Office

(15) Types of Society are:- A2 (B)4 (C)6 (D)8 VIS S (15)

(16) _____ society has lesser population. ia‘:-ljﬂf{{:f-*{;fk.ﬁﬂ;b" S
(A) Rural (5% (B) Urban d,;‘-"’ (C) Modern 4. (D) Nomadic Lﬁ,n,-,..:h?-

(17) Ethnocentrism has:- -%J{M (17)
(A) Merits 417 (B) Demerits =t (C)BothAandB Uss Bl A (D) None of these UASie tu

(18) Concept of Ethnocentrism was presented by:- -k W (18)

(A) August Comte L2 o/ (B) Durkheim &_#C,5  (C) Max Weber &5 (D) Ibn-e-Khuldun & s

(19) Types of Social Institutions are:- (A) 5  (B) 4 (C) 3 (D) 2 i;{,rru“*u(u:ﬁﬂafb* (19)

(20) Cause of Social Mobility is:- e 20k 73 (20)
(A) Education (B) Caste =13 (C) Class =Lz (D) Age /£

45(0bj)(3X )-2016(A)-6500 (MULTAN)



Paper Code 2016 (A) Yo,

Number: 64353 ( L{m,,lfl.ﬂﬁ/ ) |- ...mi._ul?"l..*.f_,;_zj-‘d

SOCIOLOGY PAPER-I OBJECTIVE (.o IR
TIME ALLOWED: 30 Minutes e 30 = =y
MAXIMUM MARKS: 20 20 = AS

Jfe o b IS 3 QL N eene Susii &osi L Q6317 < JfL L D 51 C B A =2 lel vy S
Ut B bl e Si Sl Bubbles _Enis s tzedi eSSl Sk \ LS s tmlie i s

Note: You have four choices for each objective type question as A, B, C and D. _g{/ﬁw}f};#ﬁir{g{.ﬁf

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) ___ society has lesser population. i.g_Jﬂﬁ’d.sl,Tut‘-'ufhﬂ o (1)
(A) Rural (§~s (B) Urban ;_5,;"-" (C) Modern 4. (D) Nomadic a,f.;..g,.:-l.c'-

(2) Ethnocentrism has:- _.r-;_.J{..:.f.:z‘* (2)
(A) Merits 15 (B) Demerits =tl¥ (C)BothAandB s Bl A (D) None of these uifo‘fdfc_.ufu*

(3) Concept of Ethnocentrism was presented by:- B (3)

(A) August Comte &2~ s/ (B) Durkheim ,i_.lji.&.ri (C) Max Weber d...;::.:{_,"{? (D) Ibn-e-Khuldun - sl

(4) Types of Scocial Institutions are:- (A) 5 (B) 4 (C) 3 (D) 2 _VE(LJ"!JUHUIJ,?W (4)

(5) Cause of Social Mobility is:- ce k=78 (5)
(A) Education =  (B) Caste =1 (C) Class =1z (D) Age

(6) Founder of Sociology is:- e JE=lF (B)
(A) Sumner (B) Durkheim r';h;;} (C) Spencer A (D) August Comte 2 A

(7) Types of Scienceare:- (A)5 (B3 (C)2 (D) 4 ~urBIgU (7)

(8) Sociclogy is:- S (8)
(A) General Science U\ J2 (B) Social Science v+ (C)Art 2.7 (D) Physics =ix¥

(9) Sociologists work as Social Medical Officer in:- uLELf?K}’ETLﬁ‘%‘LF v GLA i (9)
(A) Hospitals (~U#Ytx1  (B) Prisons ._;:._,J).:T (C) Universities a.,fiu,ttﬂﬁ; (D) Factories ufu;_'}g

(10) Example of Social Interaction is:- mi‘-—d'f"&f li'"gfb’ (10)
(A) Telephonic talk tf.:.l,..;u,i;’gf (B) Sleeping {» (C) Reading =% (D) Walking U=

(11) To form a Social Group the minimum requiremerit of Individuals is.- -.;.:JJJ;‘:’&’;;‘{JE’{%-L n‘if?:f{."i}b» (11)
(A) 1 (B) 2 (€) 3 (D) 4

(12) Secondary groups are found mostly in:- -L,;:'L?Li;}uf_.hy’;ﬁ;?‘ (12)
(A) Towns &us (B) Mountains usily (C) Cities EuUss (D) Villages 2u€

(13) Members of ingroup have:- -:;,L]ﬁu‘:uh’;fiu;/@" Iy (13)
(A) Modernity «— (B) Hate ,:.,f‘" (C) Humanity =L (D) Sympathy sz

(14) It is compulsory for achieved status:- _ﬁ;dﬂﬁé_aﬁwg}l}ﬁ (14)
(A) Family b (B) Ability = ile (C) Sex ? (D) Caste =

(15) Status and role status are:- i (15)
(A) Allied w7 (B) Separate | (C) Conflict (':LJ (D) None of these uﬁ;:ﬁ‘j/.:..a_ﬁuﬂ

(16) Types of Social Normsare- (A)6 (B)2 (C)5 (D) 3 uLErU-'J;ﬂfFJ;V (16)

(17) Negative sanctions include:- _%J M.:fﬁ"‘d’ (17)
(A) Certificate «~ (B) Medal .+ (C) Punishment !> (D) Reward 17

(18) Violation of Law is called:- ce QUSinB Sy (18)
(A) Crime .2 (B) Bravery .l (C) Sin o (D) Accident 2sb

(19) Social values are protected by:- ce /s SIBId e (19)
(A) Association %1 (B) Institution s4sf  (C) Club ¥ (D) Office

(20) Types of Society are:- (A)2 (BY4 (C)6 (D)8 —uf_?rlr-’"!d:f - (20)

45(Obj)( < I )-2016(A)-6500 (MULTAN)



Paper Code 2016 (A) A0y

Number: 6455 (JsfU ) 1 - L e P

SOCIOLOGY PAPER-| OBJECTIVE (. bt - 2y =ltf
TIME ALLOWED: 30 Minutes L 30 = =4
MAXIMUM MARKS: 20 20 = AS

A | .H..vl.,v‘:ﬂuhfdllvf_._sff__fu:;u*wxuzr e Ll U612 BLE D s C B A Uzl Jiy b
_fai_ﬁphb’:(/d}‘u:wifd/d-ﬂv . Bubbles _fﬂ;r"ﬁwyiﬂufabﬁ:dfdﬁ.x.; Jok L d_.f,gfu:ﬂ:a,:h.._;..f Rl
Note: You have four choices for each objective type question as A, B, C and D. *t_f/ J’f .....-Ufr'f;lef
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question, Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A

(1) Types of Social Norms are:-- (A) 68  (B) 2 (C) 5 (D) 3 -u_?;-LFIJ:fW"' Jﬁ# (1)

(2) Negative sanctions include:- _{_JL‘}.J:.::.!_}“J"' (2)
(A) Certificate (B) Medal 7 (C) Punishment |- (D) Reward 17

(3) Violation of Law is called:- u‘:—JLL:’BJ'J!hJLEL;L:L': e (3)
(A) Crime ~ £ (B) Bravery (.l (C) Sin »&f (D) Accident b

(4) Social values are protected by:- - ?f;ﬁﬁéiﬁﬁ;w (4)
(A) Association ! (B) Institution s (C) Club ¥ (D) Office 7

(3) Types of Society are:- (A) 2 (B) 4 (C) 6 (D) 8 ,:_,_r_?r'L-?iJa/"'Lv (5)

(8) ____ scciety has lesser popuiation. *.:;_L-E::HS;ETJ;}L:» R (6)
(A) Rural ($-s (B) Urban 7 (C) Modern 4. (D) Nomadic il

{7) Ethnocentrism has:- ..q_J";.:.f.-:r*” (7)
(A) Merits 4715 (B) Demerits =< (C)Both A and B Jss Bt A (D) None of these u.‘.?:ff:ﬂfi;.ur:gl

(8) Concept of Ethnocentrism was presented by:- BRI (8)

(A) August Comte &2 4o 1 (B) Durkheim .-i._r':t;,ri (C) Max Weber L_ zs s~ (D) Ibn-e-Khuldun sk

(9) Types of Social Institutions are:- (A) 5 (B) 4 (C) 3 (D) 2 -JrLJIJLJ!JfJqu’b* (9)

(10) Cause of Social Mobility is:- eSSk TEe (10)
(A) Education r“'h- (B) Caste ~1; (C) Class =slz (D) Age ~

(11) Founder of Sociology is:- *.;_,_,,Lb._.;LfI/ (11)
(A) Sumner (B) Durkheim fia'-;? (C) Spencer % (D) August Comte z o hi

(12) Types of Scienceare:- (A)5 (B)3 (C) 2 (D) 4 Uil (12)

(13) Sociology is:- —e =il (13)
(A) General Science LUz  (B) Social Science U*L-3f+  (C)Art =i (D) Physics =l

(14) Sociologists work as Social Medical Officer in:- HUTLJ':‘E}’ETﬁéfuﬁPJﬁ&L‘Vc{ﬂL (14)
(A) Hospitals (=U#l1 (B) Prisons s (C) Universities & sty (D) Factories ui'u;'/bf.j

(15) Example of Sociai Interaction is:- —-":—LJL‘J"”V(L«PE;J;E’” (15)
(A) Telephonic talk Li;::.:.f',,;u:’u"'f (B) Sleeping t» (C) Reading Lo (D) Walking &2

(16) To form a Social Group the minimum reguirement of Individuals is:- Sy ,,a-uw,’l*r ff_af.;_, Jufdf e (16)
(A) 1 (B) 2 (C) 3 (D) 4

(17) Secondary groups are found mestly in:- -u:ff-%ia._':}#ﬁéiﬂ/{ﬁif (17)
(A) Towns 4,_,,-':;_,'::‘“":; (B) Mountains J-Usrile (C) Cities u:‘.’u,ff' (D) Villages “us¥

(18) Members of ingroup have:- = dntfilo /S (18)
(A) Modernity = . (B) Hate o # (C) Humanity =L (D) Sympathy s

(19) Itis compulsory for achieved status:- 4-:'—151!;':’_13:?*:"»}@' (19)
(A) Family gixt (B) Ability —~1ke (C) Sex u_,,-“’-"-# (D) Caste i3

(20) Status and role status are:- Sl e (20)
(A) Allied Z_we 7 (B) Separate |« (C) Conflict r‘:nL..:' (D) None of these uf.’.’"fJ:'L el

45(0bj)( 3¢ IS I )-2016(A)-6500 (MULTAN)



Paper Code 2016 (A) Yot OL.
Number: 0457 (g S8 ) |- LI

SOCIOLOGY PAPER-] OBJECTIVE (%o by - 2q =kf
TIME ALLOWED: 30 Minutes e 30 = o

%,
Cx

MAXIMUM MARKS: 20 20
S o L I3 QL ir e s E s\l D g 36017 - L2 D 41 C B A ezl iy S
! -beLJJffqu&JfJLLJE Bubbles -fﬁiﬁﬂjwﬁelﬁﬂiﬁb’:@JfJi-ﬂ Sk L E../,qu:ﬁhu_l:j.:....g B2

Note: You have four choices for each objective type question as A, B, C and D. ..L,{/:'J’fr:@ﬂff{.ﬁpjif

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) To form a Scocial Group the minimum requirement of Individuals is:- _;f_¢uﬁd?l}i]fjlﬁ;iﬁ&yﬁ}bﬁ (1)
(A) 1 (B) 2 (C) 3 (D) 4

(2) Secondary groups are found mostly in:- ,L,{_:;?_Lf-i_l;}uynfdﬂf (2)
(A) Towns _ZUs® (B) Mountains _ausily (C) Cities ausr (D) Villages xU#¥

(3) Members of ingroup have:- wg J;:u:'usﬁlz'f.a,-fﬁ"f; (3)
(A) Modernity . (B) Hate = /' (C) Humanity =1 (D) Sympathy (s

(4) Itis compulsory for achieved status:- ,;f_d;;ﬁgf_i’.._,-n:x}ﬁ (4)
(A) Family ¢ist (B) Ability =2iks (C) Sex ¥ (D) Caste =l

(5) Status and role status are:- YT 97 e (5)
(A) Allled s 7 (B) Separate v (C) Conflict sl (D) None of these U550/ 4w

(6) Types of Social Norms are:- (A) B (BY 2 (C) 5 (D) 3 —LE(LE‘J&U*‘VL};@‘ (6)

(/) Negative sanctions include:- -{_U“Li,_,z‘::,i_,?"'f (7)
(A) Certificate £~ (B) Medal 4 (C) Punishment I (D) Reward 12

(8) Violation of Law is calied:- e QW Snswluis  (8)
(A) Crime 72 (B) Bravery ($xly (C) Sin g (D) Accident 26

(9) Social values are protected by:- e bf_:ﬁli?&fjigfbf (9)
(A) Association o1 (B) Institution s\ (C) Club ¥ (D) Office 7

(10) Types of Society are:- A2 B4 (C)6 (D)8 UGS (10)

(11) ____ society has lesser population. ic;:-Jﬂfr SV e (1)
(A) Rural (s (B) Urban (2 (C) Modern 4. (D) Nomadic st

(12} Ethnocentrism has:- -.ff_@{»:f:::*" (12)
(A) Merits 419 (B) Demerits =t (C)BothAandB Ush: Bt A (D) None of these S 0de Uty

(13) Concept of Ethnocentrism was presented by:- -kﬁ?wr;’&f;m‘* (13)

(A) August Comte i /o1 (B) Durkheim L /6/5  (C) Max Weber iz (D) Ibn-e-Khuldun & sdéer

(14) Types of Social Institutions are:- (A) 5 (B) 4 (C) 3 (D) 2 -u;r;*Lf**JuumS}bf (14)

(15) Cause of Social Mobility is:- eS8k 78 (15)
(A) Education /= (B) Caste =i (C) Class =iz (D) Age

(16) Founder of Sociology is:- iﬁ:._dl_j..:ylf (16)
(A) Sumner (B) Durkheim #.} (C) Spencer A« (D) August Comte & o i

(17) Types of Scienceare- (A)5 (B)3 (C)2 (D) 4 gt ()

(18) Sociology is:- ~e (18)
(A) General Science U-“"”Lft};-‘d (B) Social Science ;_,,"":Lf;__}fl.:-* (C)Art =T (D) Physics ay:*‘*'

(19) Sociologists work as Social Medical Officer in:- _UEL)Eg’/ETﬂ,?LPFJJM&E]/ﬁJ:ﬂL (19)
(A) Hospitals 2ustxi  (B) Prisons U (C) Universities (& s (D) Factories (LU /’9

(20) Example of Social Interaction is:- a{—d'ﬁ‘dU‘ H L.Sf"b-* (20)

(A) Telepnonic talk t;'f;fgi_guf}uif (B) Steeping i+ (C) Reading t=% (D) Walking %

45(00]) (1L T I I<)-2016(A)-6500 (MULTAN)



2016 (A) s

s )1 - e Pl st

>

SOCIOLOGY PAPERA SUBJECTIVE il bt - 24 =l1f
TIME ALLOWED: 2.30 Hours H230 = =
MAXIMUM MARKS: 80 80 = A ¥

NOTE: - Write same guestion number _q..éxjpfg.{glﬁﬁrgé E;J:/'_‘;Z;.sl/:}dlfd:{(éi@lﬁ iy

and its part number on answer book, as given in the question paper.

SECTION-l s

2. Attempt any eight parts. 16=2x8 né_xfc.- LL:‘::CIZFE"T::,J)/ -2/:}dlf
(i)  How Max Weber has defined Sociology? Ukt VSl fe ™ (i)
(i) Write any four fields of Sociology. S Iec L lF (i)
(i) Who is a Scientist? St (iii)
(iv) Write names of any two Social Science subjects. _L,f?;ta: r;l‘;_,rrtfa /"'Lw::_,Jf (iv)
(v) Describe the role of Sociologists in Health department. _.g’f ;_;f*Lf.,.rl:f b’ayf,fq*;.gwt.::ﬁﬁcf (V)
(vi) Define Population Welfare Programme. ?@:ylgﬂ;r'ﬁ{ LSt hare (Vi)
(viiy Describe Forms of Social Interaction. _é_f L-,Jgu? L;-JJ‘IJJ,%» (Vii)
(viit) Write elements of Social Group. -é u;gftféa:f@}w (viif)
(ix) Write two differences between Primary and Secondary Group. RN TR (ix)
(x) What is meant by Physical Interaction? ?1'_ :l,'i:_-r;. S L;'de:’ (x)
(xi) Write four types of Social Group. VLl /Br (i)
(xit) What is meant by Urban Society? ?ﬁ;;lflf.;;&;;r J_{:,d: (i)
3. Attempt any eight parts. 16=2x8 -e’;‘f—;’;@&fﬁﬁlzlﬁfaéf <3 /:Ulf
()  What is meant by Ascribed Status? ?.a.i:.,;r/y:’:.,wufj Lisaiillr (i)
()  Write down two consequences of Roie Confiict? ..;é ;;)_L_qz; Coasd h,‘-ﬂiub’(.sl.ﬁ (i)
(i) Define Folkways. S Y (il
(iv) Write down two points on the importance of Mores. & dk:ﬂﬁ‘u{aﬁl:ﬁ._;lﬁ._iy" (iv)
(v) Define Social Sanctions. -,,é --EJ/U-'#L?J,;‘ b (V)
(vi) Describe two impacts of Value Conflict. -é ugmﬁm&i&ptﬁ {vi)
(vii) Write down any two functions of Social Norms. -é‘j{fj @:::;Jféi..:.uf" J}bﬂ (vii)
(viiy Define Formal Negative Sanctions. WA S (i)
(ix) Define Society. E 0 e (i)
(x) Write down any two characteristics of Rural Society. -é{/‘{)ﬂ}:};dﬁﬂ;b’ugj (X)
(xi) What is meant by Nomadic Society? ‘i‘ufé'f:cf u;bf‘ua&u&ié (i)
(xii) Define Modern Society. PSP rsae (xii)

(:’:_ﬂ.f L}JJ)



(2)

4. Attempt any nine parts. 18=2x9 éf;/...-yt?él?b’.:.(jf _4/1.)!:‘
()  Whatis Cultural Similarity? "u’q"—/dfufu'w (1)
(i) Write two causes of Cultural Variability. -ufi-..ygmd’-.iﬁ'c?’ & (ii)
(i)  What is meant by Social Ethnocentrism? e sl o d; be (i)
(iv) Define Cultural Relativism. & —-@*}J@;’U'U’ B (iv)
(v)  Whatis Family? L LUl (V)
(vi) Wirite two functions of Educational Institution. -ru:‘“’J &1 Lgmid-ﬁﬂlfj; (Vi)
(vii) Define Religion. -_af:(n-»;'."/-"(ﬁ-—-ﬁ (vii)
(viil) Write two points on the importance of Economic institution. -uf’ﬁ CH DYEIY e IS b (Vi
(ix) Write two elements of Social Stratification. _uf‘f:v [;@;Ld_.;—_—,.;_u&} e (iX)
(x)  Write two demerits of Caste System. ey ugu‘j sl 15351-:-*.5:-*’5 (X)
(xi) What is Kinship? ~u-':‘g-€fJ Solz  (xi)
(xii) Write two factors of Social Change. - sl 3 (xi
(xiit) Describe importance of Political Institutions. et Mgt (xi)

SECTION-Il (5.
NOTE: - Attempt any three questions. 30=10x 3 -._g-.-‘}/"a.,glgémwfa,éf ROy
5. Describe the role of a Sociologist .,_‘é.' 5 1y 'i‘ﬁ:_CC:__;r_V'fh:wgufuﬁ‘é:;fu}m(f@yw;h.ﬁ -5

In Education and Agriculture Departments. Explain.

6. Define Social Group. -ég /‘":.;_L:ﬁf""J u,@’.;t&u!f s /.:,_;":" - /qu CS;I.::* -6

Also write the characteristics of In and Out Group.

7. Write the causes of Social Deviance. .,“égfa}ﬂ:(f_jffid}bﬁ 7
8. Describe characteristics of Modern Society. -fi u)k-:-r&"r‘j Jé— /; bise -8
9. Define Social Mobility and o BIlS a7 St A ke 70 S -9

explain the types of Social Mobility.
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